C:h Finding Rule w/ Two Steps Name:

Deter mine which rule best representsthe expression the function machine used. Answers
D | nput(R) |11 15| 13| 9 | 8 | A.Rx9 B.Rx5+10
Output 6 |10 8| 4| 3| CRx5-12 D.R-5 L
2.
2| InputP) | 8| 3| 4|6 |10] A.Px9 B.P+3
output | 17 | 12|13 15| 19| cP+9 D.Px8-3 3
4.
3 | Input(T) | 3| 8| 6 |10] 4| ATx2 B.Tx2-6
5.
Output 6 |16 |12 20| 8 | C.Tx6+4 D.Tx2+3
6.
4 | lnput(v) | 3| 6| 4| 8 |10| A.Vx10-9 B.Vx9 ,
Output 21 |51 |31 |71](91| CVx10+11 D.V x 10 '
8.
5) | Input(L) | 6 | 4 | 3| 8 |10| A.Lx5 B.Lx5+9 o
Output 37 | 27 | 22 | 47 | 57| C.Lx5+7 D.L+5 '
10.
6) | Input(@ |17 13|12 | 15|19 | A.Ix9 B.Jx9-10
Output 8| 4|3|6 |10 CJ-9 D.J+9
| lnputu) | 3| 8|6 |10 4| AUx5-8 B.U+5
Output 7 132|224 |12| CU+8 D.Ux5
8 | Input(N) | 3| 4| 6| 8|10 ANx7+10 B.Nx7+8
Output 29 | 36 |50 |64 |78 C.Nx7-9 D.N+7
9 | InputH) | 8| 4| 6 | 3 |10| AHx11+9 B.Hx8+11
Output 64 | 32|48 |24 |8 | CHx8 D.Hx9
10) | Input(z) | 6 | 3 |10| 8 | 4 | A.Zx2-6 B.Zx3-5
Output 17 |11 | 25| 21 | 13| C.Zx2+5 D.Z+5
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Finding Rule w/ Two Steps

Name:

Answer Key

Deter mine which rule best representsthe expression the function machine used. Answers
D | nput(R) |11 15| 13| 9 | 8 | A.Rx9 B.Rx5+10 D
Output 6 | 10| 8 4 3 C.Rx5-12 D.R-5 L

2. C
2| InputP) | 8| 3| 4|6 |10] A.Px9 B.P+3 A
output | 17 | 12|13 15| 19| cP+9 D.Px8-3 3
s A
3 | Input(t) | 3| 8|6 |10 4| ATx2 B.Tx2-6 C
5.
Output 6 |16 | 12| 20| 8 C.Tx6+4 D.Tx2+3
6. C
4 | Input(v) | 3| 6 | 4| 8 |10| A.Vx10-9 B.V x9 , A
Output 21 |51 |31 |71](91| CVx10+11 D.V x 10 '
g. B
S | Input(L) | 6 | 4 | 3| 8 |10| A.Lx5 B.Lx5+9 o C
Output 37 | 27 | 22 | 47 | 57 C.Lx5+7 D.L+5 '
0. C
6) | Input(d) |17 |13 | 12| 15| 19 | A.JIx9 B.Jx9-10
Output 8| 4|3 |6 |10| CJ-9 D.J+9
7| InputU) | 3| 8| 6 |10| 4| AUx5-8 B.U+5
Output 7 | 32|22 42| 12 C.U+8 D.Ux5
8 | Input(N) | 3| 4| 6| 8|10 ANx7+10 B.Nx7+8
Output 29 | 36 |50 |64 |78 C.Nx7-9 D.N+7
9D | Input(H) | 8| 4 | 6| 3 |10| AHx11+9 B.Hx8+11
Output 64 | 32 | 48| 24 | 80 C.Hx8 D.Hx9
10) | Input(z) | 6 | 3 |10| 8 | 4 | A.Zx2-6 B.Zx3-5
Output 17 | 11 | 25| 21 | 13 C.Zx2+5 D.Z+5
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